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AAPC = ;AACE = ; x 15 =10
AAPQ : ACPQ =1:1

. AAPQ = %AAPC = % x10=5




52. S AABC o4 AD : DB = BE : EC =
CF :FA =3:1°]th. AADF =6cm? ¢
o, ADEF ¢] Y o|& +sfofe}.

>
> HE: 14cm?

AADF = §AABF
1
= - X -AAB
X 4A C

1
AABC = §6AADF = ? X6 =32 (cm?)
ntzk7k 2] 2 ADBE = %AABC,

3
AFEC = 1_6AABC

. _ T _T _ 2
. ADEF—lﬁAABC—16X32—l4(cm)




53. S 9] HPAHTY ABCD oA thzhd AC €9 A Pof AP :
PC =3:20°]1, gABCD = 100cm? ¥ ©j, APAD 2] H o] & 5}o]
gt (&, &9+ A=kt

A D

\VARR 4
0
n

30

B ~

AAPD + APCD = 50(cm?)
AP:PC=3:20]82

APAD = 50 x g = 30(cm?)




54.

vV V¥
0
i

160

B ~

AABF &} AAFC O A =o]7F &3 @ o] 2: 19]E 2 AABF :
AMFC=2:1

AABF =

2 1
T2 XAABC—gxianBCD
= 80(cm?)

m117}4] 2P0 2 ADFC — %ABDC

1 1 1 1
= 20(cm?)
AAGD = %AACD - %DABCD — 60(cm?)

.. AABF + AFCG + AAGD = 80 + 20 + 60
= 160(cm?)




55. S 1o A AC // DE ©] 3 aAABC = 135cm? ©|t}. BC = 15cm
CE = 9cm ¥ ], AACD 2] Y o|ZS F5}oiz},

D

B ~15cm-"C 9cm’ o

>
[> ®™EH: 8lcm?

AB = 135x 2 + 15 = 18(cm)

AACD = AACE = % X 9 x 18 = 81(cm?)




